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Teaching and Learning Beliefs Survey

SD = Strongly Disagree D = Disagree A = Agree SA = Strongly Agree

Belief SD D A

SA

1. Assessment is something that is done to students.

2. Stopping teaching to review and take practice tests improves students’
performance on high-stakes tests.

3. The primary purpose of assessment is to inform and improve the teaching
and learning of mathematics.

4. Multiple data sources are needed to provide an accurate picture of
teacher and student performance.

5. Assessment is a process that should help students become better judges
of their own work, assist them in recognizing high-quality work when they
produce it, and support them in using evidence to advance their own
learning.

6. The primary purpose of assessment is accountability for students through
report card marks or grades

7. Asingle assessment can provide adequate data for making important
decisions about students and teachers.

8. Classroom assessment consists of tests and quizzes that occur after
instruction.

9. Mathematical understanding and processes can be measured through the
use of a variety of assessment strategies and tasks.

10. Ongoing review and distributed practice within effective instruction are
productive test preparation strategies.

11. Assessment is an ongoing process that is embedded in instruction to
support student learning and make adjustments to instruction.

12. Only multiple-choice and other “objective” paper-and-pencil tests can
measure mathematical knowledge reliably and accurately.

NATIONAL COUNCIL OF
TEACHERS OF MATHEMATICS All, NCTM, 2014, p. 91-92.

Adapted from Principles to Actions: Ensuring Mathematical Success for




PARCC Elementary Prototype and Sample Tasks

Grade 3: Fluency

Click on all the equations that are true.

Grade 4: Deer in the Park

e.' Write your answers to the following problem in your answer booklet

] 8x9=81

[[] 54=9=24+6
[l 7x5=25

[} 8x3=4x6
] 49:7=56+8

The perimeter of the rectangular state park shown is 42 miles.

A ranger estimates that there are 9 deer in each square miles of the park.

If this estimate is correct, how many total deer are in the park? Explain
your answer using numbers, symbols, and words.

Grade 4: Ordering Juice Drinks

Julian makes and sells juice drinks. The juice drinks
are sold in six-packs and boxes.

e

|'_ Order receipt |
'Number of packages Total cost

S R E )
] sCJoo
Total 5:]00

A six-pack has 6 juice drinks and costs $2.
A box has 20 juice drinks and costs $7.

The Friendly Corner Store placed this order: Six-packs

24 juice drinks packaged in six-packs
200 juice drinks packaged in boxes

Boxes

Fill in the blanks to complete the order receipt.

Grade 5: Mr. Edmund’s Pencil Box

Mr. Edmunds shared 12 pencils among his four sons as follows:

® Alan received % of the pencils.

1

® Bill received Z of the pencils.

® Carl received more than 1 pencil.
® David received more pencils than Carl.

Part A

On the number line, represent the fraction of the total number of pencils that was given to both Alan and Bill
combined. Use the button s on the right to increase or decrease the number of equal sections on the number
line.

More Tick Marks

Fewer Tick Marks

Part B
What fraction of the total number of pencils did Carl and David each receive? Justify your answer.
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SBAC Prototype Elementary Assessment Tasks

Grade 3: Fractions 1

A, e OYes ONo
43044 0 1
Look at point P on the number line. B, +—t— OYes ONo
0 1
P
1 Co—t—+ &+ OYes ONo
0 1 0 1
Look at number lines A —E. Is the D. <4 ¢ : : O Yes ONo
point on each number line equal to 0 1
the number shown by P? Choose Yes
or No.
E. -4 } } + } QOYes ONo
0 1
Grade 4: Fractions 2a @®
Jared is testing how much weight a
bag can hold. He plans to put juice
bottles into three bags. He wants
each bag to have a total weight within
the given range.
¢ Drag juice bottles into each bag so
that the weight is within the given
range Between Between Between
. 6lband7Ilb 10lband1llb 141band 151b
* Leave the bag empty if the given
range is not possible using juice
bottles.
Grade 4: Fractions 2b Grade 4: Rectangle 2

Five friends ordered 3 large sandwiches. 1 2| i3
5 _ A rectangle is 6 feet long and has
James ate = of a sandwich. . 1
4 4 |S) |6 a perimeter of 20 feet.
Katya ate 41 of a sandwich. 7 8 9
What is width of this rectangle?
Ramon ate 3 of a sandwich. ol L. | i/ Explain how you solved this

problem.

Sienna ate i of a sandwich.

How much sandwich is left for Oscar?

[ )

www.parcconline.org www.smarterbalanced.org Page 2
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Fractions

This problem gives you the chance to:
» show the position of fractions on a number line
» compare the sizes of fractions

Here 1s a number line.

f ? b
1
2

—_—

. : 2 2 :
1. Mark the position of the two fractions 3 and 5 on the number line.

2. Explain how you decided where to place % and % on the number line.

1S nearer to % ?

3. Which of the two fractions, % or =,

Explain how you figured it out.

6

Copyright © 2005 by Mathematics Assessment Page 8 Fractions Test5
Resource Service. All rights reserved.
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Fractions

This problem gives you the chance to: > \S ‘ 1
» show the position of fractions on a number line -5 -8 -
+ compare the sizes of fractions —_— =
P — 5

Here is a number line. %’/ ’50 D

f A A 1

0 2 1 Q 1

=} 2 =

o . 2 .
1. Mark the position of the two fractions —g- and & onthe number line.

2. Explain how you decided where to place -%— and % on the number line.

T Added  “we oo 3
woe ulre T Qur M 2 e Then T
A e e for We B

e ond wikete Ve porrd

\ne  woas

2

3. Which of the two fractions, is nearer to % ? 'K

2 2
ERN
Explain how you figured it out.
%A“k o fersrecoder Myed BE 0009 Cnu\i\ 4o an
\ Mok Qumber e 2D, 'b % -'%
T ohr\ '%‘ 2.4 eyt T Ao 3::“%‘;30.%

o Sieller Naaph éfa dod L sytaller  authie -

doger = 5wk -

N

%E:

Mens '+ 1S

Fractions

This problem gives you the chance to:
« show the position of fractions on a number line
- compare the sizes of fractions

13

Here is a number line.

f f }
12
2

0 ’& 1

Ul' )

. 2 .
1. Mark the position of the two fractions % and 7 on the number line.

2. Explain how you decided where to place % and % on the number line.

Retanse QL looke ke onare ¥han & 4
i

1 | /-\
e, Hnl 4 aoth )

ore ‘:halg er ¥na .

3. Which of the two fractions, —i- or : is nearer o % 7 %‘g

Explain how you figured it out.

oo r\* GD,J._._._

wauld D Spoalie”

RBecnuse 1f  Someans ot o pL

Yoy Teok 2 puces Mran IE

| i ' Al 3 s ! Ll
you coubl  Take 2 r;u'.-r"”- o= O~ Tl he

amallec  one would

15 Smaller +nan Do -Fr JANS
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Fractions
This problem gives you the chance to:

- show the position of fractions on a number line

= compare the sizes of fractions

Here is a number line.
f Tt t
“= Y
0 - | = 1

1. Mark the pasition of the two Tactions - and = on the number line.

2. Exphain how you decided where to place % and 2 on the number line.
T decdid on pur ¢ there becouse ‘33. and % are

both Analer ehan “

_m_dmm_mt Zero :gq- oAb, &5:59“5 %QSBS"!-

1. Wchofdnmﬁmions,%ar-g-,i:mb .;_? gq 4 pendie

Explain how you figured it out.
.. -
IE 4he dernominartor Sll‘lt,r’thg, b'\ww e 15,

X J . "
"3 S devarminctsr 15 Swa'ler Ehaw %s .82 'L '3

bager.
! —

4 |
2 - 5

Fractions

This problem gives you the chance to:
+ show the position of fractions on a number line

« compare the sizes of fractions

St

Here 1s a number line.

1 M
§ ) F 41 1 *
0 e L 7z, 1
- 2 -
2

1. Mark the position of the two fractions % and z on the number line,

2. Explain how you decided where to place % and -:5!— on the number line,

—_avas Aad Yre Cog ko 205 feret +rey ¥OOR
Gep /8% \ore a0 then T AfOS deod % Tovo
(SO y 1~ 1 - | o)

) S _A0ag N el Y S = TNe ootk
3 hi 1 2 2 1, allc
3. Which of the two fractions, el nearer to R S -
Explain how you figured it out.
— L b oNT - ~
USPA e coatrrean A8 SeeR e il L ats 2
X RO Tt - o LA CADSE e
ol ol X [ -l -l e ‘1"{ e *Wae 2
- < )
Y P Ao ]
- - -4 =
Doy g T SO Gy VeSO SasaTT ey Page & ":5’ Frachons TestS
A0

Dgemsm Seee AligiL Bmred
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Fractions

Fractions
This problem gives you thel chance to: ) S:?. This problem gives you the chance to:
» show the position of fractions on a number line » show the position of fractions on a number line
« compare the sizes of fractions » compare the sizes of fractions

Hgre is 2 number line. _
f F T ¥ t
o o P T

2 .
(. Mk the position of the two fractions - asd 5 on the number line.

Here is a number line.

f T 1
. 5 1
2

0

2
1. Mark the position of the two fractions % and - on the number line.

2
2 2 2 Bmhinhmrymdaddadwbuemplm—g-md-g on the number line.
2. Explain how you decided where to place <~ and - on the number line.

| P T veew_sheee Yo gt ¥ DeCae -1 Ligel

Th 4 ) e h ' £ +/] . pr S a
J_ Kcw L ] ;1)‘ = ‘ fhaiof e {f iy 02~ .;-\H'f F REAT “./h' ) \
1]

i ¥ | { ~
\sl€ssthan b alf

S

~ A w-ﬁammﬁm,%u%—.iamm%? ) ~
Mhic o Fracti 2 .?_ i 14 :r . .
3. Which of the two fractions, T E , is nearer to 77 Explain how you figured it out.
Explain how you figured it out. 2 ‘lﬁ ﬁnm\&ﬁ' }ﬂ\nl\ 5. - e
. y S - s l.-’{ ) ' ] o
Eav-fj’}»_- & o('//:; 152 & s Qe Ty NGl e NG/ - -

—r
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Fractions

This problem gives you the chance to:
= show the position of fractions on a number line
« compare the sizes of fractions

- —

Fractions
This problem gives you the chance to:
« show the position of fractions on a number line

« compare the sizes of fractions

Here is a number line.

f

2
0 S

N |= ]

1. Mark the position of the two fractions 2 and = on the number line.

3

e >

2. Explain how you decided where to place 2 and r on the number line.

a

< iz e85 4han holf and 2 /3

morE

3 5

3. Which of the two fractions, 2 or 2 , Is nearer 10 ??

Explain how you figured it out.
T Jdyded e

3

and

£Fif¥ns ans e ;rna,rgu«wcf

g+

—4

Here is a number line.
A R
1
0 s 5

1. Mark the position of the two fractions -23- and -g— on the number line.

]

Explain how you decided where to place % and % on the number line.

T Xuided  Mee \log \S* oka D TS = Na&'hzal et

Yhe end of Hun X AQ e mew win HS cocept

\ \ L
Avlded irkn SQasks

3. Which of the two fractions, % or -, IS nearer to -J-?

Explain how you figured it out.

%Yz, T oteus  ooe ‘wg Tectangle ond diuided b

‘oo % Yedizoatsl \ =

Acided “kicks 2%ard S garks, < drode % s and¥s
Yo vos dose %O Y2 Hea 24, was

—
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Fractions

This problem gives you the chance to.
» show the position of fractions on a number line
» compare the sizes of fractions

S9

Here is a number line.
r i f S
0 - 1
2 —-g-'

2
1. Mark the position of the two fractions % and = on the number line.

. Explain how you decided where to place % and 2. on the number line.

5

‘\»le\\ '%" S dmeit 6 onnle  or past o
\'n\g' a5 = \ _AM ?”
halS  So = o g gt

[

Dk -+ neaf

R xS

3. Which of the two fractions,

2 2 . 19 They EP
3 O 5 is nearerto -2-—‘.’ an ol ASance

Explain how you figured it out. \

2
They ate o eaua\ dictonce  becouze > et
L= o\l on:\ 3 %u* & haif so —hey are an
?qual disdance 30 poe dnlS,

Fractions

This problem gives you the chance to:
. shmnﬂeposﬂonofﬁmonanwnbefum
« compare the sizes of fractions

S10

Here is a number line.

f

0

wiv't
B

2
T
v

i
e
2

2
1. Mark the position of the two fractions -% and & on the number line.

=]

Explain how you decided where to place ¥ 3 and — on the number line.

3 5
F}f AR dM\OQﬁ the Vige in b ’)i’ﬁ ?
2 ot Me en of the Seced fhed Foy % T iube
Qw nsthe ond put Bod B s

'.(‘.‘i

L

3. Which of the two fractions, % or g is nearer 1o %‘.’

Explain how you figured it out.

veconee 1 \ow Conver Mre Srockions {ntp pemenis
2 is 40} apd 315 66, b perent 40

s tleeet 16 50 than bb1s
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PARCC Middle Grades Prototype and Sample Tasks

Grade 7: TV Sales
A store is advertising a sale with 10% off all items in the store. Sales tax is 5%.

Part A
A 32-inch television is regularly priced at $295.00. What is the total price of the television, including sales
tax, if it was purchased on sale? Fill in the blank to complete the sentence. Round your answer to the nearest
cent.

The total cost of the television is $

Part B

Adam and Brandi are customers discussing how the discount and tax will be calculated.

Here is Brandi's process for finding the total cost

Here is Adam's process for finding the 3 ;
for any item in the store.

total cost for any item in the store.

e Determine the original price of the item,
including sales tax.
¢ Then, take 10% off.

e Take 10% off the original price.
¢ Then, add the sales tax to the
discounted price.

Z Brandi represents her process as:
Adam represents his process as:

T= 09 + 0.050.9) . — ?ff,‘o_sf’)
: TV. price —  10% off
sale price + sales tax _ plus tax discount

In both equations, T represents the total cost of the television and p represents the regular price.

Are they both correct? Use the properties of operations to justify your answer.

Grade 7: Proportional Relationships
Part A

Each row of the table identifies a line containing a pair of points. Indicate whether each line represents a
proportional relationship between x and y.

You may use the graphing tool by selecting two points. The line containing the two points will be
automatically drawn. You can reset the tool by clicking “Start Over”.

Be sure to indicate whether each line represents a proportional relationship or not by selecting the
appropriate box in the table.

8 Line .
Line Proportional Not a Proportional 8
Relationship Relationship
- Undo
Line 1 containing (1,3) and (2,3) o
; StartOver

Line 2 containing (1,2) and (2, 4)

Line 3 containing (3,1) and (6, 2)

Line 4 containing (0,2) and (5,4) o 1 2z 3 4 & &

Line 5 containing (4,4) and (5,5)

Part B
For the lines in Part A that do not represent a proportional relationship, explain why they do not.

For each line in Part A that does not represent a proportional relationship, describe how you would change
the coordinates of one of the two given points on the line to create a proportional relationship.

Page 1
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SBAC Middle Grades Sample Tasks

Grade 6: Sandbags 1

43026 |

Jamal is filling bags with sand. All of the bags are the
same size. Each bag must weigh less than 50 pounds.
One sand bag weighs 57 pounds and another sand bag
weighs 41 pounds. Explain whether Jamal can pour sand
from one bag into the other so that the weight of each
bag is less than 50 pounds.

Grade 6: Sandbags 2

Coar

Claire is filling bags with sand. All the bags are the same size.
Each bag must weigh less than 50 pounds. One sand bag
weighs 58 pounds, another sand bag weighs 41 pounds, and
another sand bag weighs 53 pounds. Explain whether Claire
can pour sand between sand bags so that the weight of each
bag is less than 50 pounds.

Grade 6: Expressions 1

Look at each expression. Is it equivalent to
36X + 24y?

Select Yes or No for expressions A — C.

A. 6(6x + 4y) OYes ONo
B. 30(6x - 6y) OYes ONo

C. 12(x+2y+2x) QYes ONo

Grade 7: Integer Expressions

1
The point on the number line shows the location of -3 2

Move each expression into a box to show its correct location
on the number line.

1 1 1
-33-33 -33-(-5)

1 1 1
-35+ 33 -35 +(-5)

Grade 7: Calculator

Different states have different sales tax rates. Three states
have online calculators to compute sales tax on a purchase.
Use the following sieps to match each calculator with the
correct state.

e Select Calculator A, B, or C.
» Enter a purchase price.
* Then select “Find Sales Tax” to compute the sales tax

Different states and their sales tax rates are shown.

Drag each calculator into the correct row to show
which state can use it to calculate sales tax.

for that purchase price.
You may use the calculators as many times as you need to Illinois 6.250%
solve the problem to the right. Calculator
Select a Calculator CalculatorPurchase Price|Sales Tax A Indiana 7.000%
() Calculator A
(-\ Calculator B Calculator Kansas 6.300%
B
() Calculator C Maine 5.000%
Purchase Price Calotiator
c Maryland 6.000%
— Minnesota 6.875%
\_ J
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Cereal

This problem gives you the chance to:
e use ratios in context

Here is some information on the side of two boxes of cereal.

Tasty Oats

12 grams of protein in 100 grams of cereal

Cornbits

5 grams of protein in 45 grams of cereal

1. How many grams of Tasty Oats cereal will give you 9 grams of protein?

grams
Show your work.
2. Which cereal, Tasty Oats or Cornbits, has the higher ratio of protein?
Explain how you figured it out.
Page 7 Cereal
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T1

Here is some information on the side of two boxes of cereal.

Tasty Oats

12 grams of protein in 100 grams of cereal

Cornbits

5 grams of protein in 45 grams of cereal

1. How many grams of Tasty Oats cereal will give you 9 grams of protein? —)5
arams
Show your work.
V& Steo= €.33
A% ¢35 =19
2. Which cereal, Tasty Oats or Cornbits, has the higher ratio of protein?
T%{:} oS

Explain how you figured it out.

T S P -

ashy Oy 5 % ahd fatokds &. 50 Tagly ows
Y2 S ghen

E) 12; 2.2 PARTS

and  (atnloms {3% 2 0

T2

Here is some information on the side of two boxes of cereal.

Tasty Oats

12 grams of protein in 100 grams of cereal

Cornbits

5 grams of protein in 45 grams of cereal

1. How many grams of Tasty Oats cereal will give you 9 grams of protein? g C!
grams
Show your work.

00 & = 1T

0o -\ %EEN

2. Which cereal, Tasty Oats or Cornbits, has the higher ratio of protein?

]
C/-gr-n = LS

Explain how you figured it out.
T fFioued this oot

1S ‘?.“?_ o ‘-fsg: S i 9

100 V3

on ol 91’5

Voo ca o v
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Here is some information on the side of two boxes of cereal.

Tasty Oats

12 grams of protein in 100 grams of cereal

Cornbits

5 grams of protein in 45 grams of cereal

1. How many grams of Tasty Oats cereal will give you 9 grams of protein? —7.{_
-

T3

= grams

Show your work.

Lo R

&

rb scodedn =Xb oS cerent

2. Which cereal, Tasty Oats or Comnbits, has the higher ratio of protein?

Losnb s

Explain how you figured it out.
(-'{)W\\) l*(a \\.ﬂ- & Q Kc» :,N.” /"-'E

T4

Here is some information on the side of two boxes of cereal.

Tasty Oats

12 grams of protein in 100 grams of cereal

Cornbits

5 5 grams of protein in 45 grams of cereal

1. How many grams of Tasty Oats cereal will give you 9 grams of protein?

Irams

Show your work. 0o+ 1A= 272

8_?)(51 =7 g__'j
’foc,%p‘.q:?S‘J

2. Which cereal, Tasty QOats or Cornbits, has the higher ratio of protein?

Covwnlbids

Explain how vou figured it out.

=

T(.\:.‘i.-;; Ock. N
I (‘i\ Lyt (li.k.—.. ;')'\':’ Seans C’f

Dot (n, Thepdodd  Hae Lol

On L .

AVl
~

COWH(?J’\(ZS becw‘ Lov  cach ovam of protien tow 5 &l 2S
U L

Glromns e cz,ve.al_
ror

Page 5



Diane
Typewritten Text
Page 5

Diane
Typewritten Text

Diane
Typewritten Text


Here is some information on the side of two boxes of cereal.

Tast s

12 grams of protein in 100 grams of cereal

B Cornbits ||
ﬁ 5 grams of protein in 45 grams of cereal !

1. How many grams of Tasty Oats cereal will give you 9 grams of protein?

Show your work.
'
T = el&éramo '&-?nﬁa}n -Pwa;'am & cereal
2 ~.9
-5 SRR

2. Which cereal, Tasty Oats or Cornbits, has the higher ratio of protein?

Explain how you figured it out.

S1

‘75" grams

Tasty Qats
J

S3

Here is some information on the side of two boxes of cereal.

Tasty Oats

12 grams of protein in 100 grams of cereal

Cornbits

5 grams of protein in 45 grams of cereal

1. How many grams of Tasty Oats cereal will give you 9 grams of protein?

=5 grams
Show your work.
\oa- T «q
$399 =75 groms ot coven]
2. Which cereal, Tasty Oats or Cornbits, has the higher ratio of protein?
Tastx Ccts

Explain how you figured it out.

Bm ey e more rrobe. br o AMAN Y grums.

TR e e w30 YOS hih s @0 yoilll oply  bewe

IO grovmg . But . stk Tusty 996  Yawe oot |2.
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S5

Here is some information on the side of two boxes of cereal.

Tasty Oats

(12)grams of protein in 100 grams of cereal

Cornbits

5 grams of protein in 45 grams of cereal

1. How many grams of Tasty Qats cereal will give you 9 grams of protein?

25  grams
Show your work.
12.¢F =100
226 L35 =9
Ci' i 2—% = QQ%
2. Which cereal, Tasty Oats or Cornbits, has the higher ratio of protein?
___CO(‘Y'\ bHLQ

Explain how you figured it out.
well T afel

100, T 12wl Qove g Ylun, L ol ol
~ - ‘
uc‘) 'I.‘ 5:\) -'JJ‘--f.i{ﬂ_ a Qe | L q, 9 ;.'3 (t\di“ﬁ“:[t.r ‘,L:/\O-;‘ X :(3 i )
o N

roouln] be cae¥N o pome ordes in oo Sweller plps

N s
ol cocn],

S6

Here is some information on the side of two boxes of cereal.

Tasty Oats

12 grams of protein in 100 grams of cereal

Cornbits

5 grams of protein in 45 grams of cereal

1. How many grams of Tasty Oats cereal will give you 9 grams of protein? v Z

ams
Show your work.

100717=9
lsm.m pf'c’ce]q -8 Sfum'a cexenl
azaq
4=71
2. Which cereal, Tasty Oats or Cornbits, has the higher ratio of protein?
45:5 =9

Tasty Deds

Explain how you figured it out.

Foc every B afoms ok Tusty Oty There 19 )31'0«?1
Oi ‘[JTOJFE‘W'\ For E,\f(’f\‘;' q5fom5 OYC (\orﬂb.i'l":
thep 11 | aram of pm-ho'm. I you have 72

arams of each ceeal you'll hove 4 arame of
‘“pro-&e\ﬂ T Tos’nf Oats and @ in Cam"ol%,
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S10

Here is some information on the side of two boxes of cereal.

Tasty Oats

Here is some information on the side of two boxes of cereal.

Tasty Oats
12 grams of protein in 100 grams of cereal 12 grams of protein in 100 grams of cereal
—
Cornbits Cornbits
5 grams of protein in 45 grams of cereal

5 grams of protein in 45 grams of cereal

1. How many grams of Tasty Oats cereal will give you 9 grams of protein’
_?ﬁ grams

Show your work.

1. How many grams of Tasty Oats cereal will give you 9 grams of protein? -5
_ o = grams

Show your work. \
2 00"
I 2= B
5 25 IC\C) 'l' 1 <7 8) ’—L‘
3 _
£ 22 8% x 4
2. Which cereal, Tasty Oats or Cornbits, has the higher ratio of protein?
|b‘§m«g;*0\5rms _ Ot 2. Which cereal, Tasty Oats or Cornbits, has the higher ratio of protein?
LGty =
’ Tash, Ooks
Explain how you figured it out. . o é
. N . . Explain how you figured it out.
TH 8 TaphOs® becavse  For gach gram 0% proten n TaghyOatS
o e , ~ -:_’S_ 3/3.)_(}.1 &1}_‘-/ A5 . O Sope . o
Q%UO\\Q- ?ﬁghnm‘) U‘Q' C.'Qle\l_‘ A“\A '?Df' Cbﬁ\b‘ﬁ\'ﬁ ' ‘_ 'H’\& et i Ilﬁ ] q -)“\0 = 0 _ Q\‘/Al = Jat:ff\_) SRR & =5
N L . A [ IR P
v ' ~ . WLk o QDT L Y (0rar ) U o ARG
So Tocxy Dag oS & oeter ot For priein than “Teeabits Alse o Rl pun B> o ot conanl, L
L ' . -
1 ':w{‘ ) 1 110 7 D a'."’}‘r ek “- Y 1 J
Cocnvnts mas ||, T grams ot protein ped 100 arams ot cereal » = e i s e &
2 N S,
Tosty Oats hoes @ arams of- protein pe 10D grams o cereal. Oppnts ok rocond, T ,(;'.:{{,_x{.ﬂ ovt  Tasy Dok 1, ond
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PARCC High School Prototype and Sample Tasks

HS Algebra 1/Math 11: Functions

A portion of the graph of a fix)| 2,9)___ vertex
quadratic function f(x) is shown d \\
in the xy - plane. Selected values (0,5) -4 7
of a linear function g(x) are
shown in the table. l-l.Gl. . (5.0 -1 1
O X
/ \ 2 5
5 -1

For each comparison below, use the drop-down menu to select a symbol that correctly
indicates the relationship betweeen the first and the second quantity.

First Quantity Comparison Second Quantity
The y-coordinate of the y- Iz, The y-coordinate of the y-
intercept fix) intercept ¢ix)
fi3) B 2f3)

Maximum value of fix) on the E Maximum value of g{x) on the
interval -5 s x <5 interval -5 < x <5
(5) - fi2) v 9(5) - 2i2)
5-2 5-2

HS Algebra 1/Math I1: Michelle’s Conjectures

Michelle wanted to investigate the effect on the vertex of the graph
of f(x) = X%+ 6x when f(x) isreplaced by f(x + k).

Michelle graphed functions of the form f(Xx + k) for Kk = 1, 2, 3 and 4. For each of the
functions she graphed, the x-coordinate of the vertex was negative and different for each
value of K, but the y-coordinate of the vertex was the same for each value of K. Michelle
made three conjectures based on her results.

1. The x-coordinate of the vertex depends on the value of K.
2. The x-coordinate of the vertex is negative for all values of K.
3. The y-coordinate of the vertex is independent of the value of K.

Determine if each of Michelle's three conjectures are true. Justify each answer.
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SBAC High School Sample Assessment Tasks

Water Tank

Two water tanks are shown. Tank A is
a rectangular prism and Tank B is a
cylinder. The tanks are not drawn to
scale.

Tank A is filled with water to the
10-meter mark.

Click Tank A to change the water
level. The volume of water that leaves
Tank A is transferred to Tank B, and
the height of the water in Tank B is

shown.

Drag one number into the box to show
the approximate radius of the base of
Tank B.

1

Meters
h 0 O

o N b

10
8
. L6
Tank A £ Tank B

94

=
2

8m
0
8m p—

Two-Second Rule

The “two-second rule” is used by a driver who wants to maintain a safe following distance at any speed. A
driver must count two seconds from when the car in front of him or her passes a fixes point, such as a tree,
until the driver passes the same fixed point. Drivers use this rule to determine the minimum distances to
follow a car traveling at the same speed. A diagram representing this distance is shown.

%

a following distance a

A

i

As the speed increases, the minimum following distance also increases. Explain how the “two-second rule”
leads to a great minimum following distance as the speed of cars increases. As part of your explanation,
include the minimum following distances in feet, for cars traveling at 30 miles per hour and 60 miles per

hour.
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Interpret a Distance vs. Time Graph, Grade 12 NAEP, 2009

DISTANCE VS. TIME

y
— -‘
[T -+
=
= 101
=
b Runner A
=
5 8
=
K]
£ 6f
55
=
| Runner B
& unner
-3 ]
b=
g 21
E
R
&)
0 . E L | § ] | | :Y
1AM, Noon 1 p.M.

Time

9. The graph above shows distance versus time for a race between runners A and B. The
race is already in progress, and the graph shows only the portion of the race that occurred

after 11 A.M.

The table on the next page lists several characteristics of the graph. Interpret these
characteristics in terms of what happened during this portion of the race. Include times
and distances to support your interpretation. (A sample interpretation of the y-intercepts
is given in the table.)

Characteristic
of Graph

Interpretation in Terms of the Race

y-intercepts

At 11 A.M. Runner A is 10 miles from
the finish line and Runner B is 7 miles
from the finish line.

Slopes

Point of intersection

x-intercepts

Page 3


Diane
Typewritten Text
Page 3


Interpret a Distance vs. Time Graph, Grade 12 NAEP, 2009

Student A

Characteristic
of Graph

Interpretation in Terms of the Race

y-intercepts

At 11 A.M. Runner A is 10 miles from
the finish line and Runner B is 7 miles
from the finish line.

Slopes

nnner 4 1 Mouing g tnph
Uhiie e 8 movt s ak 3.5 nmph

Point of intersection

e vwo onndr 7 At il

Sorru G\SHgnce ™M ne
Hmen Line  AF 145 khd L)
are o+ § i s AAVAN

x-intercepts

funner aF Finisns Incrau g+
12:%  wha nhnee B s ar |

Student B

Characteristic
of Graph

Interpretation in Terms of the Race

y-intercepts

At 11 A.M. Runner A is 10 miles from
the finish line and Runner B is 7 miles
from the finish line.

Slopes

Aumer A foor abod an harand 1§ muede @
fan 10 M8 ONK ryivur B fook L s e
wn 7 mids.

Point of intersection

M abowt WS totn nuwers Wede g haut
49 mies fom he Haudn Lot

x-intercepts

LS awves A s O mular Fom
‘:\u i"-z:awum ond o 1:00pm (unner B
13 O mila Fom e L WA
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Interpret a Distance vs. Time Graph, Grade 12 NAEP, 2009

Student C

Characteristic
of Graph

Interpretation in Terms of the Race

y-intercepts

At 11 A.M. Runner A is 10 miles from
the finish line and Runner B is 7 miles
from the finish line.

Slopes

Slopes show +ho spead of +he fumvievs,

Rumer A +§qms 1) }:u.ele:é n 1% hour ib!fs > ity
‘M‘I"Ef +owe Ll

B onts A soeed of 35 meh |

Point of intersection

The spot whei® Rumner A passes
Rum\er B.

x-intercepts

The +iwe o+ Which +he runners finlsy
the 0Ce. Ruwner A finlghes a4 R1Spm,
ond Rumef B finishes a4 1pw

Student D

Characteristic
of Graph

Interpretation in Terms of the Race

y-intercepts

At 11 A.M. Runner A is 10 miles from
the finish line and Runner B is 7 miles
from the finish line.

Slopes

Speeds o I’wnn‘\/lj

Point of intersection

Wwhen R awgnt uf-\og

x-intercepts

wwen BB Glaeked
YW race
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Interpret a Distance vs. Time Graph, Grade 12 NAEP, 2009

Student E

Characteristic
of Graph

Interpretation in Terms of the Race

y-intercepts

At 11 A.M. Runner A is 10 miles from
the finish line and Runner B is 7 miles
from the finish line.

Slopes

A omenn A 1o CrORELNG out
Tl BTN T ~AAD - -

o LANNEA
8.

Point of intersection

x-intercepts

Student F

Characteristic
of Graph

Interpretation in Terms of the Race

y-intercepts

At 11 A.M. Runner A is 10 miles from
the finish line and Runner B is 7 miles
from the finish line.

Slopes

r A% Yad o Steeper negahive
R;J‘&e:mowag o~ O faswer pace

unaer B Had o sower pace Snow™
e \ess ey Soee.

Point of intersection

€ 1S wWhnen ¥ne crosSsScd
pT:.+hS On the Course onal ¥hewr

x-intercepts

2R RAERY gpch crored
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Interpret a Distance vs. Time Graph, Grade 12 NAEP, 2009

Student G

Characteristic
of Graph

Interpretation in Terms of the Race

y-intercepts

At 11 A.M. Runner A is 10 miles from
the finish line and Runner B is 7 miles
from the finish line.

Slopes

Adpnef A S0P \S “"%%ﬂ

T 63190
conter G S\a "y %%

Point of intersection

o.4)

x-intercepts

hanner A X110 QAL
RUMBC S ) QLM

Student H

Characteristic
of Graph

Interpretation in Terms of the Race

y-intercepts

At 11 A.M. Runner A is 10 miles from
the finish line and Runner B is 7 miles
from the finish line.

Slopes

Runer> Aond & wyoving
1o e Angdn\inae.

Point of intersection

4.5 uwhen R|ungrs A Moue i
RuNUs R,

x-intercepts

LOEX CTRLMNLX Y 46
o \TORERR B\ Qe stori

Page 7


Diane
Typewritten Text
Page 7




